Al = 0l & AFE B Al A
0248 =& 3 3 LetsA EXNEE
A EXIEED
M EXNTH
ol 28X EXl2c (CHl: X 21)
A T SI(BH) - HIRARY - BAS IS ol & o lmE=Y
EXE=2n 6,519,426 7,457,661 N938,235
= 329,397 329,401 pav/!
< 80,250 80,250 0
Al 6,109,779 7,048,010 938,231
EXEH 267,322 275,982 18,660
= 68,996 69,000 pav/!
[ 4,875 4,875 0
Al 193,451 202,107 18,656
SEX0 EXl2e] 257,507 266, 167 28,660
= 68,996 69,000 pav!
Al 188,511 197,167 18,656
IHESAIRIDE AL 191,657 191,667 A10
= 68,996 69,000 pav/!
Al 122,661 122,667 26
201 LBt2 3| 185,657 185,667 210
= 66,776 66,780 Yav!
Al 118,881 118,887 26
01 AtR2t2IH] 185,657 185,667 A10
HESAIXDOE ZA 2 185,657 185,667 A10
= 66,776 66,780 Yav!
Al 118,881 118,887 16
IHESAIRDE ZA & =& 44,850 53,500 28,650
201 LBt2 3| 44,850 53,500 28,650
01 At2t2lH] 44,850 53,500 28,650
HESAIXDL EX0ISSE LA EES 19,800 22,000 22,200
EXNSEYUI0IE(HEI, ==Al) 12,150 13,500 21,350
24.7. 1.1 HESAIXIDE A L AE>E 9,900 15,000 25,100
ANHZE 2el 579,993 596, 121 A16,128
[ 44,055 44,055 0
Al 535,938 552,066 216,128
SHEE 2 NRQRE 29 235,528 251,656 216,128
SUHEENAH 2 58,860 63,060 A4,200
201 Le+23H| 35,060 37,060 A2,000
01 AtR2t2IH] 30,500 32,500 A2,000
SOHIHEX 2l & ARE WA 3,000 5,000 A2,000
207 S| 19,800 22,000 A2,200
02 &ADHE] 19,800 22,000 A2,200
HEEZYE XS 75 MY 19,800 22,000 A2,200
NEEEANAY 29 117,901 129,829 11,928
201 LBt2 | 116,201 128,129 11,928
01 A2t 116,201 128,129 A11,928
SS4 2 ZAHBAIAE SR 2 104,906 115,579 210,673
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2A - HH - H(SH) - MRAIY - BES Oil AboH ol Al Hns2
| | | SEMFHEASAAL X2 11,29 12,550 1,255
NESE SIS RSt 5,496,401 6,397,401 A901,000
= 260,401 260,401 0
Al 5,236,000 6,137,000 A901,000
TDMZAIO| X MBHE E 5,496,401 6,397,401 A901,000
= 260,401 260,401 0
Al 5,236,000 6,137,000 A901,000
X = THZE AFAFS 5,236,000 6,137,000 A901,000
201 LB A 29,000 130,000 A101,000
01 AF222IHI 7,000 100,000 93,000
XIETHEAIAIY 2etoIZ=0I8H 5| FAHIE 0 3,000 3,000
RIETHEAIAIY 2EEI} 242 0 90,000 90,000
02 222 22,000 30,000 8,000
NETWEAAY ST 23 22,000 30,000 8,000
301 Y2 A S 5,200,000 6,000,000 800,000
14 DBt A2 5,200,000 6,000,000 800,000
KIETHEAAISY X&2 5,200,000 6,000,000 800,000
HHRAAH(EXNZED) 38,000 50,500 12,500
|23 38,000 50,500 A12,500
J|1=3| 38,000 50,500 A12,500
201 L2 A 26,600 39,100 A12,500
02 222 5,000 17,500 A12,500
%= 222 2 HIA 5,000 17,500 A12,500
HRE=(EXNFED) 110 57 53
SEIE(ENHED) 110 57 53
2TH|pEE 110 57 53
802 BHe=D|E 110 57 53
01 20NBx3tE=2 53 0 53
2023 K& THEAFAF 27 27
2023 JHE BAIKIIIA 26 0 2%




